= a
N = 0 &8 AF S & Al A
20108 = 1 3 LE3|H MR ~ MBS
A MR
d: AUAF=ME &2
SHel: XA &= (&te @2
2N -3 - c2(3H) - NEME - HES 0] Ao pjEsifon Hl =2
NSt 669,701 664,853 4,848
£ 13,209 0 13,209
H| 656,492 664,853 A8,361
A=W & 630,642 622,367 8,275
£ 13,209 0 13,209
H| 617,433 622,367 A4,934
XA &= 630,642 622,367 8,275
C 13,209 0 13,209
TH| 617,433 622,367 A4,934
KA 21 &4 375,401 357,664 17,737
£ 13,209 0 13,209
| 362,192 357,664 4,528
201 LEt2HH| 297,933 300, 111 N2,178
01 AtRZ2lH] 72,070 74,248 A2,178
OYOINERIHADE (0 AE2)
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ONMRLZ AR=X (O AIEZ)
Z3A 560,000 560 600 240
OXLAHUE A2 (0 AE2)
2 266,000 266 400 134
ONHEAXEI} 2T (0AEZ)
Z3A 1,080,000 1,080 1,200 A 120
403 XXIESHSXH=0E 73,922 53,713 20,209
£ 13,209 0 13,209
2| 60,713 53,713 7,000
02 ZIIZSOCHEHHEE AFI I 73,922 53,713 20,209
OM£URBAAE DNE3 ZRAIGR2
AE 12,422,0008 12,422 6,213 6,209
£ 6,209 0 6,209
TH| 6,213 6,213 0
OX SN EAIAE TN 14,000, 000 14,000 0 14,000
£ 7,000 0 7,000
H| 7,000 0 7,000
e Al 2 185,019 185,499 A480
202 O4H] 3,960 4,400 A440
01 2oy 3,960 4,400 A 440
OXMEAHZEZ odl(olarE2)  ZA 900,000 900 1,000 A 100
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